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B.Com. (Part-I11) Examination, 2018

ECONOMIC ADMINISTRATION AND FINANCIAL

MANAGEMENT

Second Paper
(International Trade and F inance)
Time allowed : Three hours
Maximum Marks : 100

This paper contains ten questions, having two
questions in each Unit. Candidates are required
lo altempt five questions in all, selecting at least
one question from each wunit. Each question
contains Part (a) and Part (b). Answer is to be
restricted to the limit of five pages for Part (a)

“and about 100 words for Part (b). All questions

carry equal marks.

g9 9 9H H <9 U R M & | vade zord
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UNIT -1
g -1

1. (a) What do you mean by International Trade ? What are the

C-307

resemblances between International Trade ap
Regional Trade ?

(1)

d IntCr..
(6+10) ‘
Py
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FRIET AOR | AP FT ANY 2 7
IR T4 A AR ¥ 3T gHFEaN © ¢

(b) Describe four objectives of International Trade. “
IR AWUR & IR 9eed fafay |

Explain the procedure of making international payment
through documentary credit. What is the importance of
documentary credit in international trade ? (8+8)

Tod G & ARAH Q@ ARSI YA B & ST
F1 ReER ¥ TeEd | FONSE @OR H godid 9"
&1 91 75 & 7

Distinguish between revocable and irrevocable credit.  (4)

GUeSg TuT AETeHg W ¥ IR BT |
UNIT -11
s - 10

Explain the organisational st
Organisation. Also describe its main functions.

frea oz GieT B AUGATHd erdl TaHITSA | TS

(a)

(b)

ructure of World Trade

(a)
(8+8)

(b) Give any four objectives of World Trade Organisation. “4)
frv ZTaR TEE & P AR Sew AR

ns of World Trade Organisation

{a) Describe the probable gai
(8+8)

1 India and explain bad effects on it.
mr%ﬁmﬂmﬂgﬁmmﬂm

b} What do you understand by TRIPS and TRIMS ?
foe 0d freg & A T WG E 7

4)

C3 (2)

C-307 (3)

UNIT - I
s - I

(a) “Balance of Payments always balances”. Discuss the
disequilibrium in Balance of Payments in reference of

this statement. (16)

prar Wge Wad Wqfed e B FH PUA @
e # A wqgerd ¥ s @ faam= ifvm |

(b) What are the objectives of ‘UNCTAD" ? 4)
‘UNCTAD’ & J2¥g &1 & ?

(a) Describe the role of Export Credit Guarantee Corporation
of India Ltd. in promoting Indian export. (16)
TRa @ Frfal @1 gem ¥ wArdrm fafa R

form fafics 1 qfiet P A= PfAV|

(b) Wha&are the main functions of EXIM Bank of India ? (4)
TR Frafa—amaa 9@ @ g S a1 87

UNIT - IV
s - IV
(a) What is the need of International Trade Regulation ?
Discuss its important methods of regulation. (8+85
SRS AR & Frama & gur smavaear &7 D
e @ weaget fafrdt ) e ik
(b) What is meant by ‘gains from international trade’? ()]

RIS AR F A ¥ Fur vy 27

(a) Examine the role of Forej .
gl Ald 1a? .

development. Explain its bad effects In India’s economic
' (8+8)

P.T.Q.
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(b)

9. (a)

(b)

10. (a)

(b)
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p

KA & S Ry 3 R wEmar @ plEaiy
faa=m R | zwa QR yTdl BT T B |
What are the characteristics of Free Trade Policy ? 4)

T AR Y o) fsrgard &1 &2

UNIT -V
@R -V

What do you mean by Exchange Control ? What may
be the objectives of Exchange Control in an
economy? Explain the various methods of Exchange
Control. (4+6+6)

fafrr fRiEer ¥ e @ oy 27 R srefaraven #
faffrrg s & ®&n Sewm & 9ad © 2 fafEa e
o fafa= faftrat & Twsm= |

Why the problem of foreign exchange arises ? 4)
fres R & 9= | S '8l 87

What is Exchange Rate ? Explain, how the exchange rate
is determined by the demand and supply of foreign
exchange ? (4+12)

A <X 91 B WK Hifo] & el faftma @ @
vd off gt fafwa <= @1 fafRer 39 @ ¥

Discuss the role of Reserve Bank of India in foreign
exchange system in India. (4)

e i fee R e § ardn Red 3w @
freT @ e IR

(4)

Scanned with CamScanner

T AR B Vamn



I‘

\

C-303

B.Com, (Part-111) Examination, 2018

o JIAL
. ECONOMIC ADMINISTRATION AND FINANC

1. (a) Define “Budget and Budgeting”
of an effective budgeting.

C-303

MANAGEMENT
First Paper
(Business Budgeting)
Time allowed : Three hours

Maximum Marks - 100

This paper contains ten questions having two
questions in each Unit. The candidates are
required to attempt five questions in all, selecting
at least one question from each unit. Each
question contains Part (a) and (b). Answer is to be
restricted to the limit of five pages for Part (a) and

about 100 words for Part (b). All questions carry
equal marks.

(1)
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[16]
P.T.O.
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(b)

(a)

(b)

(a)

€303

SVIC N4 9UICTT @) YIXHIINA . DUV | NP HHIGRIFA

oIeq B AP acdl &) fIea=r g |
Budget Manual. [4]

gole gReaaT |

“Budget is an essential tool of manager”. Explain this
statement and discuss the importance of budgeting.

[8+8%

“IOTE YEED] BT TS IMAeD SUBRY B | §H HAT B
T BT qAT Ioleq & Heed &I quid BIRY |

Key Budget Factor. [4]
TR q9E BRE |

UNIT-11

g®rIg — 11
A factory is currently working at 50% capacity and
produces 20,000 units and earning a profit of Rs. 50 per
unit by selling its product at Rs. 250 per unit on which
variable selling expenses are 4% of selling price.
At 60% working, raw material price increases by 2%
and per unit selling price falls by 2%. At 80% capacity
same material price increases by 5% and per unit
selling price falls by 8% variable selling expenses
remain constant per unit irrespective of the reductions
in selling price.
Unit cost of material and labour of current 50% level of
activity are Rs.100 and Rs. 30 respectively. At this
level of activity per unit factory overhead are Rs. 24
(50% fixed) and administration overheads are Rs. 20
(50% fixed). Prepare a flexible budget and ascertain

budgeted profit at above mentioned three capacity
[16]

working level.

(2)

(b)

(b)

C-303

e SR @ o e 25 T G| o v e

&Y I HHI: 100 TAT 230 & | 39 fparsfierar wR W
FREMET SuReEy 24 (50% ReR) @ garaw SuRerw
220 (50% Rer) ufdy 5o 21

Argeiel g9 gy SR SRiad T e wWNl R P
P OR FoieE Ard T el |

Sales Budget. [4]
fAma auie |
What is master budget ? Describe briefly the usual

subsidiary budgets of Master Budget. [6+10]

ARCR g9l 9T & ? AREY q9iC B WED q9Cl Bl
&g # fage= Hifg |

What is the difference between manpower budget and
labour cost budget. (4]
57 ¥ goTe U9 19 oTd Joie A 9T IR 8 7

UNIT - I

gH1s — I
What is cash budget ? Describe the various methods of
preparing cash budget. [4+12]
AP o T 2 ? Aps Fue T @ R ARy

1 quis BT |

(3) P.T.O,
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(a)

Explain the objectives of cash budget. (4]
AFHE Ioic B IS GHIEY |

The following table shows the number of employees
working in an organization in successive years and the
numbers of accidents taking place:

A

Years No. of Employees No. of Accidents
2004 15 5

2005 12 20 —
2006 20 15

2007 26 18

2008 35 17

2009 30 30

2010 | 37 35

Use normal equations to develop a trend line for
forecasting number of accidents on the basis of number of
employvees and use this equation to predict the number of

accidents when number of employees are 33,000. [16]

==

o<t

m

o |odaRal @ wen [geeTsl @ we
2004 15 5
2003 12 20
2006 20 15
200 . 26 18
2008 | 35 17
2009 | 30 30
2010 | 37 35
(4)

Tg—— J——“
[ PHERA B FE B IR W gHeTR @) ww B '
qafgaE Y @ g wme wdeRl gRT Ry

Fgd R T WHeRY # @9 wHaial @ G

33,000 8 O gHCARI B FEN B YAl ¥g wUAnT

PIRTY |

_ (b) What are the limitations of business forecasting ?  [4]

aaaie qargaE @ AW @ g ?
UNIT - IV
gorg — IV

7. (a) What is zero base budgeting ? Explain its advantages
and limitations. [4+6+6]

I MR g @ ¥ ? g€ O ud e B
faqer S|
(b) What are the objects of budgetary control. [4]

qure FEaT @ Sged T & 7

8. (a) The following data relates to a company which has a
profit plan approved for selling 5,000 units per month
at an average selling price of ¥10 per unit. The
budgeted variable cost of production was ¥4 per unit
and fixed costs for the month were budgeted at
¥20,000. Planned income being 10,000 per unit.
Because of shortage of raw materials the plant could
produce only 4,000 units and the cost of production was
increased by %0.50 per unit. Consequently the selling
price was raised by ¥1.00 per unit. To modify
production processes in order to meet material shortage,
the company incurred an expenditure of ¥1,000 on

Research and Development.

Set out a performance budget and a summary repory
theoron. ' [16]

C-303 (5) PT.o
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falaa anee HEA DI gfa
fma W.WH 'qf%fﬁo\‘maﬁm i ufy framm
q 5,000 SHIEAT #E 997 ¥ Iifey TAT VERE Y F oyAN qw x10 WA

AN S wEfa ) gees IREATE Serey e ¥ | aRafad A @ Suw (Sere) o
AN 24 YR g1E ol WE P AU oS ReR apy
220,000 o1 ATE @ forg PrAfT AT 210,000 o | drey X 80 farelto graso 5t fRwiraT
ikl E’D‘*W?"‘ﬂ%m e A 4,000 gsﬁzma T Y 70 Reclram @ee wfty ReaiTa
SRIES| HHT Td IdIg od 0.50 s‘cmgqa
TH | werawd fwa qea Uiy §PE 1 g9 Rar w0 S (S 15 Fosi
AR AT DA P oqy BN 8 SR 9 gy ATl freeil (e, SUAM, SUW U4 fasor o ke
AT BT & forg Heell 1 A O o Wi - 0 FRW
T B US| e doic 9 89 W e uftaes
TIR AR | (b) Enumerate the characteristics of standards costing.  [4]
. wHTg AT @ faeaTd garsd
(b) What is meant by Management Information System? [4] !
e AT FOTell T T AR 7 10. (a) The following details are related to two projects X and
Y:
-V
UNIT - Py Raeor < RS x T v @ waR
wPIE =V ‘ X Y
9, (a) Mixture limited is engaged in producing a standard mix | z z

using 60 kg. chemical X and 40 kg chemical Y. The 20.000
standard loss is 30%. The standard price of chemical X Cost of out lay 20,000 ’
is T5 per kg and that of chemical Y is T10 per kg. Cash Inflows .
The actual mixture and yield (output) were as follow : Year | 8,000 10,000
Chemical X 80 kg. @ ¥4.50 per kg. Year 2 8,000 12,000
Chemical Y 70 kg @ T8 per ke. Year 3 4,000 6,000
Yield {(output) 115 kg. Riskless rate of return is 5% Project X is less risky as

compared to project Y. The management considers risk

Calculate material variances (Price, usage, yield 8] premium rates at 5% and 10% respectively aPPfQPriate
Mix). for discounting the cash inflows. State which project is
e fafaee 60 AU TEH X UG 40 Wg better ?

T v @l SN @R UF YA s @ S
e &) gETg &9 30% ¥ WA X Bl garg 7ol ©

C-303 (7) P.T.0,
roant (6)
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(b)

Present value factor of Rs. 1 for 1,2 and 3 year at 1),

rate is 0.909, 0.826, 0.751 and at 15% rate is 0.870, 0.755

and 0.658 respectively. [16]

SR JfRT geurg @) 50 &1 uRASHT X IRASHT
B GO ¥ B SfgAget § 1w APS TATE B Sfy
9T & forg Sifew Rifigd & AT 5% T 10,
T BT | gaTgy - aRAST 30T § 7

Uh ¥ B I qog BREH 10% &% W 1,23 q§ 3
fefT war: 0.909, 0.826, 0.751 @AUT 15% X WX 0870

0.756 TIAT 0.658 & |

Decision Tree technique. [4]

fofa ger gfafy |
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C-302
B. Com, (Part III) Examination, 2018

BUSINESS MANAGEMENT
First Paper

(Insurance)

Time allowed : Three hours

Maximum Marks : 100

This paper contains teﬁ questions having two
questions in each Unit. The candidates are
required to attempt five questions in all, selecting
at least one question from each unit. Each
question contains Part (2) and Part (b). Answer is
to be restricted to the limit of five pages for Part
(a) and about 100 words for Part (b). All
questions carry equal marks.

T A H 3 v R ¥ we gers
43 yE R ¥ et @ oy geey
B T & B | e B s g ¥ Y
HHR § T &5 A ST AT (a) TG (b) wpy
glmagqm(a)iﬁﬁﬂwm?ﬁm
T 5 gt ¥ @ AT (b) Y SRS e
P SR AT 100 TR fora ¥y
gef @ 3ip quE ¥

(1)
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UNIT -1
= - 1

(a) Insurance is a provision which a prudent man makes
against forfeiture losses or misfortune." Discuss- this
statement of Sir Thomas. Explain the importance of
Insurance. [6 +10]

YT Th aRen € ol fRede @ik aeRed B
o i & g FRar &7 W o D W PUT B
wﬁm|m¢mﬁm§ml

(b) Distinguish between "Insurance and Assurance". [4]
ZIOR-T AT TR H 3R qargy |
(a) Discuss in brief the main principles of Insurance. [16]
S & i Rygrt @ wed # quie BT
(b) What do you mean by Reinsurance ? [4]
QAT & ST FT A g7
UNIT-1I
s - 11
(a) What do you mean by Nomination ? How is noxpination
2 What are the effects of nomination ? Explain.
done 46+

aerg & ? Amied fEE TR
& a1 wE B1d & ° aAsEs |

ssignment of

Tt | ger I
a7 STar g 7 e

(b) Distinguish between Nomination and A ]

policy. . A '
fros @ AEIGA g4 EXe # =R Farsy |

4 (a) Define the premium 9 Explain in brief the [:actlo;

et {a) chihe - ) N
affecting the rate of premium.
;’r*’t:*ﬁ i o @ | e F1 yrfad s
a5 wew B Head H FHeEg |

C-302 (2)

4.

(b) What is Mortality Table ?

Hoger arfersr aar & ?
UNIT - IIT
s - I

(4]

(a) What do you mean by Group Insurance Scheme ? Discuss
its characteristics and state how is it different from

individual insurance ?

[4+6+6]

g 911 QT 9 A9 7 §Eed & ? 39 favryarei
P fademT PITT T qa5Y F 75 vt dmr @ e

TpR =1 & ?

(b) What do you mean by Endowment Policy ?
I ST UF § T T FHE & 7

4]

6. (a) What is an Insurance claim ? What steps are required to be

taken by the insured to get the claim on a policy ?

[4+12]

PN Y T aad g ? i §iffa B §-ua W
a1 &Y R W &R @ oY @ $eq SoM 8 &

(b) Write a note on "Payment of Claim in case of Suicide." [4]
ARt @1 T A T & raE R Rwl ferRay |

C-302

UNIT -1V
= - IV

7. (a) Explain the factors that are required to be considered

while fixing Fire-insurance permission. Also describe the

procedure of premium determination.

[8 +8]

aiftT & @1 M fufRa Y9 T M @S ang
arei @ guesd | dmr A PEiRT F @B uftey

@1 Y qofa BT |

(3)
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(b)

8. (a)

(b)

9. (a)

(b)

10. ()

(b)

C-302

Personal Accident insurance. (4]
Jufddes geredr 4 |

Describe the claim procedure for total loss-under Marine-
[nsurance. - [16]

gt A @ it sl wf @ @iy @ whEa @
Seord BT |

What is Live-Stock Insurance. [4]
BRI It e A

UNIT -V

T - V
"The branch of Life Insurance Corporation is an

important unit for procuring insurance business". Do you
agree with this statement ? Describe the various
departments of a branch and its functions. [4+6+6]

“Straa 7 foeme @) wgr 19T gagarg W HR aren

HEYUl 3PS B |1 9T 3MY 3H HAF W TEHd § 7 IR
P & fafa= fart vd wrat &1 gof| Hifdg |

Discuss the rights of an Insurance agent. [4]
91 el & BRI &1 fAd=AT ST |
Discuss the advantages and disadvantages of liberalisation

in insurance sector. [8+8]
dM-gm ¥ SN B a™ ud iR @) R
PN |

What is Insurance Regulatory and Development
Authority ? [4]
1 frame oiR A s @ & 2

(4)
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C-305

B.Com. (Part-11I) Examination, 2018
BUSINESS MANAGEMENT

Second Paper
(Industrial Law)
Time allowed : Three hours

Maximum Marks - 100

This paper contains ten questions having two
questions in each unit. The candidates are required
to attempt five questions in all, sclecting at Jeast
one question from ecach unit. Each question.
contains Part (a) and Part (b). Answer is to be
restricted to the limit of five pages for Part (a) and
about 100 words for Part (b). All questions carry
equal marks.

39 ueH 7 W T ue f@y oy €| udas
ghrg 7] uw Ry g el @1 dm
gl @ IR o 8 | el B ydAS $Hg
H W T U B IR sl A B IR
A= UBR 9 < #— U H Q@ 9 (a) 4
(b) 9T | W @ W (a) @ Frasners wee
® VO T 5 &I A wd Wi (b) @y
SORIHS U3 & BTN T 100 ¥l o
fora=r & | Tt weet & of wae €

UNIT -1
s — 1[0

1. (a) Explain the provisions of the Factories Act with regard
to the health of workmen. | | [16]

C-305 | (1) P.T.0
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PRAMT ARTH ¥ s & @R B ey § W
Qla‘c‘ll:ﬂ'?ﬁfa"haﬁﬁql ﬁ.QTrq '\

_ . UNIT -1l
(b) Write any four provisions regarding Labour Welfare. @ — I
4 .
DT B FoaToT ey IR wrau faRag | ' ) @ X)rlf;)eoratailonnote on Employees Stte Insurance
' - [16
2. (a) What are the provisions about the working hours of FHARY oy A1 R W) o fofan | :
adults under the Factories Act ? [16) : ‘(b) How is the Medical Benefits Council constituted ? 41 .
FRAF IR F g el 3 a1 > w§y § FafeeT ot aRve 1 167 B g & ?
Y
g & 7 6. (a) State the procedure for calculation of amount available
) . . for Bonus.
(b) Define ‘Adolescent’ and ‘Week’. 2+2 [16]
. ] Cls i Suael A A FoEr & wfpm
e vd F@rE @1 aRuifia Hg| _ T | e ® e
UNIT -1I ' (b) Throw light on Salary or wages according to the
5 — 11 Payment of Bonus Act. R (4]
A YTaE AR P IER da9 W Aeied W)
3. (a) Define ‘Strike’. State the circumstances in which el BT |
strikes are prohibited and become illegal. ~[6+10] UNIT - IV
gedie & R @fg| 99 aRRefEl @ ool -
WWWW%&H@W%W@W@% ' L
Fd B 7. (a) What do you mean by partial and total disablement ?
(b) Define Industrial Dispute. [4] WA :Sra?n employer is not liable for personal mw{rg;gi‘
Srenfire fare @ oRaRE P mwwmﬁmmmﬁ%?g
e st A afea 9 @ for *q ITREr
4. (a) Define wages as per Payment of Wages Act. S::g o & 2
provisions regarding Period, Time, Medlum6+10] _ ' ’
Responsibility for payment of wages. [ : (b) Define  ‘Wages’  according to ~ Workmen's
N Compensation Act. - (4]
Wqﬁmmamﬁmzﬁaﬁﬂﬂ'ﬁaﬁ R
& Y &RIgRS Sffem & sgER Aogd @ oA
AL o Forg® AT @ o, W g B
I v weReie wedT g e S |
5. Srate o [4] 8. (a) Define the following as per Minimum Wages Act.
ate t fiextent of deductions in wages. N W Ao ARfRm @ aER e 7 afwfa
FAGH H A AR G B e P BT |
~ ane 72N P.T.0.
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(b)

9. (a)
(b)
10. (a)
(b)

(iy Wapes A
TRIERY "
(1) Approprate CGoyerninent {41
QA e ,

(i) imployee " |4
ST )
(v) FEmployer (4]

SIS e
Procedure for fixing minimum Wages. 4]

SETR o Fufen 21 1af)

UNIT ~V
g — V
How can a trade union get itself registered 7 Pxplain,
[16]

sty W B uohae few ger fem s 27 e
IV |

Disqualifications of office bearers of a trade union.  [4]

sA WY @ yertredl @ srrmar |

What are the provisions for determination and recovery
of ‘Gratuity’ under the Payment of Gratuity Act 7
Explain. [10+6]
QUErH AT AfTH @ SfaR wuem @ faRo vl
TRTeNT a1 WTAETH R § 7 vgee @i |

What is the maximum limit of payment of Gratuity ?
Explain. [4]

Iegd /e YA B Aftimen afy &) G 7
2 ? W HT |

- e ———
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C-304

B.Com. (Part-111) Examination, 2018
ACCOUNTANCY AND BUSINESS STATISTICS

Second Paper
(Taxation and Auditing)
Time allowed : Three hours

Maximum Marks : 100

This paper contains ten questions having (two
The candidates are

questions in each Unit.
in all,

required to attempt five questions
selecting at least one question from cach unit.
Each question contains Part (a) and Part (b).
Answer is to be restricted to the limit of five
pages for Part (a) and about 100 words for Part
(b). All questions carry equal marks.

g9 yeys A aw wed R M #) % I8
# gy yed fay T | udenfil & e gl
P TR AT 2| Wil & yAF ghIg H 9
U §IF T IR o IifErd & See fam
ghR W o 8- H I W (a) Td W (b)
£ U ® AT (a) B FETHS g9 & IR
ST 6 TSI A Q4 W1 () Y SRS T
HT IR THI 100 veai H ferasm &) ol

gel & 3F FHE B |

UNIT -1
ghs - I

(1)

Explain in brief the salient features of Goods and Service

Scanned with CamScanner
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[ =]

3. (a)

(b)

(a)

(b)

e mma

S T AR B @ g el @ el
gHATEY |

What are the commodities which have been kept otitside
the purview of GST ? » [4]

fer {7 aegall a1 7o v AR B A ¥ AR vy
TR ?
Discuss the following with reference to Central Goods
and Service Tax Act. 2017: [8+8)
g Ald U4 AR ARFEE, 2017 @ dwd
=it &1 fadem v -
(1) Goods
(1) Manufacture
(1) HIcd
(it) fAmTor
Are all goods and services taxable under GST ? %
F TS U4 QaTp] @ qeq Gl ATel T @y wY A
g7

UNIT-1I

@ - 11

From the following particulars determine the value of
taxable supply as per provisions of Section 15 of the
Central Goods and Service Tax Act, 2017:

4
ine G 00
Value of Machine (excluding GST) 12,00.0
The invoice value of machine includes the following :
30,000

(iy Costof primary packing

{2

(i1) Design and packing charges 65,000
(iii) Weightment and loading charges 20.000
(iv) Inspection charges 6.000
4
The invoice value of machine does not include the
following :
(i) Taxes charged separately by the supplier
(other than CGST/SGST) 12.000
(ii) Consultancy charges in relation to
pre-installation planning 10,000
(iii) Testing charges 3.000 |
(iv) Cost of specified packing at recipient’s j
request for safe transportation 15.000 ‘
(v) Commission paid to Agent by supplier 6.000 i
Other Information :
(i) Freight and insurance charges paid
by recipient on behalf of supplier 80.000
(ii) Subsidy received from Central Govt. for
setting up factory in backward region 60.000

C-304

(iii) Subsidy received from third party for
timely supply of machine to recipient 20,()@;

(iv) Supplier of goods provides credit of 30 days.
After this time recovers interest for delayed

payment. Interest received from recipient

(v) The supplier of goods offers 2% trade
discount on the invoice price of goods
which is recorded in the invoice for the goods. -

Give reasons for inclusion or exclusion of any
suitable assumptions wherever necessary.

(3)
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W@a TIdGROT { D Rl TV N v Oil% P

2017 F uRT 15 B e B AW I B ey o (iv) o1t 1 yffat 30 e @1 SuR Few ¥
frrerfvor B ' TS qIE PTAH W & g B 2
. gt ¥ arEd @ @ ag@ R 6,000
4
7 o1 A (ATl Ud darax <fed) 12,00,00 W q.faa’:!m it A B Ao g
el T 2
(i) e AT A T 30,000 Siel g N amawad @, Iugd A=Al B Y Eaill
(i) R¥oma T gonfraRT & @ 65,000 we ) Al aR arrEl A8 aRa @ sro A AR
(iii) w T4 oS @a 20,000 (b) Who is a Casual Taxable Person ? “4)
(iv) e @ - U IRl FR Ay Afdd B & ?
N 7 ¥ Frey ol &1 & 4. (a) :Ea)’((p:izi:he eligibility and conditions for taking lr(lfg)t
(i) STl g St J e fF T X O U@ S @ Ry e @ wal @
FX (CGST/SGST & Sretran) 12,000 ﬁw
(i) eoAgd & e & TR (b) What do you mean by “Net Value of Taxable Supplies™? (4)
¥ R Geb 10'003 oX drg R B Y qod F 9 T T § ?
(iif) TEOT Y 30
UNIT - III
(iv) el aRaes & g sl @ SR sk - 11
w fafire ST A @ 18,00
5. (a) Write a note on composition scheme under GST. _ (16)
: e 600 :
(v) STgRFE g g P faar T e ¥ R Ao W R IR |
L (b) Who is treated as public servant under GST ? @
(i) 347:;%?5:1 Edl W%ﬂwﬁmﬁmﬁi 'ﬁ'zru 50000 o) ¥ e Ja@ By A oA 2 ?
~ ) ' 6. (a) Explain the situations in which tax is demanded under
(ii) ﬁm@ g # a-jwmzrrfﬁa W_\Wgrm 000 GST. [16]
B PN ; Ao @ amrfa 99 oRRefE &1 aoiF Pforg Ry
mi)ernﬂq&%?ﬂ?ﬁ:fﬁwq'\'wlﬁ 20007 FR P AT B o Tl B

C-304 (5) P.T.O

C-304 (4)
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(b) EXplain main aescripLoil Ul 111y vUuL. .(4 .
) 10. Xa) “Vouching is the backbone of Auditing”. In the light ©

T Pre Pl I this statement discuss the importance of vouching gi\'iﬂii
some case law. (16)
< - IV T g B TSR &1 R qwa @ au B ES

9 FUF B G ¥ YAIVH BT Hecd gHSSY |

UNIT - IV »

7. (a) Discuss the working model of Integrated Goods and (b) What are the objects of internal check ? “4)
Service Tax (IGST) Act. (16) p
AR e @ @ e € ?
Ui AT T4 Famax ARFTH & SRV I7 A
P AR HRT | ‘
(b) What is Export of Goods under IGST ? 0))

e Su. . aRfm & a1a & fafa o & ?

8. (a) Explain the provisions of levy & collection of tax in IGST.

(16)
IJESNTEE A I P I Ud GUST I GG
TG B A BT | g ) '
(b) Write short note on ‘Zero Rated Supplv". O] E

@ R w e R |
UNIT -V
@ - V ;

9. (a) What is meant by Audit? Mention the advantages and |
(4+6+6)

R

limitations of an audit.
saEe @ T S & 7 e @ andi ¢d ARl
L . @
(b} Explain Management Audit.
TEA] AT B ARSIy |
C-304 (7)

C-304 (6)
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C-301

B. Com. (Part-11I) Examination, 2018

ACCOUNTING AND BUSINESS STATISTICS
First Paper
(Corporate Accounting)

Time allowed : Three hours

Maximum Marks : 100

This paper contains ten questions having two
questions in each Unit. The candidates are
required to attempt five questions in all, selecting
at least one question from each unit. Each
question contains Part (a) and Part (b). Answer is
to be restricted to the limit of five pages for Part
(a) and about 100 words for Part (b). All .

questions carry equal marks.

wwﬁmmﬁﬁnﬁﬁu@mﬂ
¥ o) ye o m &) Weafal a1 ura e
& gae o | wdenffal B AS g H W@
v S &1 SR o e 1 A A
qm(a)qa'(b)€|m$ﬂm(a)$
PrgeHd WA @ SR a5 gRt # ud
AT (b) 7Y AR I BT ST AT 100
st % g &) @ 9 B 3P WA § |

C-301 (1)
PTg
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UNI1 -1 »
go1g — 1

(a) How can the share capital of a company be altered apg
reduced ? What principles should be. allowed j,
formulating a just and equitable reconstruction scheme 9
[16]
Wm&m@ﬁqﬁaﬁ?@ﬂmmﬁ
o1 wad & ? v Sfuw wd weell gt ey
g9 ¥ fe Ragral &1 ared Y =fey ? .
dividend on cumulative
b) How are the arrears of a _ -
® preference shares dealt with at the time of intemnal
reconstruction. . R 4
Fod gEifteR I TR A Ecapl R
gq:ﬁn’rﬂrﬁwmmmgﬂﬁmm%?
(a) The following is the balance sheet of Shah Limited as at

[16]
31st March, 2016 ‘
31 =4, 2016?ﬁ¥ﬁﬁﬁé€ﬂﬁ§ﬁﬂw%.

at 31st March, 2016
Balance Sheet as —_—

March, 2016
4
1 EQUITY AND LIABILITIES
(1) Shareholder’s funds ' /
(a) Share capital : Authorized
[ssued and Subscribed 4,00,000
4.000 Equity shares of T 100 each
(b) Reserves and Surplus 4000
Reserve fund 0
(2) Non-current liabilities 2,00,00
594, Debentures 200
Loan from Shah (Director)
(33 Current Liabilities
Creditors
Total

C-301 (2)

4 Assers |
Ty Non-Current Assets
(a) Tangible Fixed Assets
Land and Buildings 1,70.000
Plant and Machinery 3.20.000
(b) Intangible Fixed Assets
Goodwill 70,000

(c) Other Non-current Assets

Discount on issue of Debentures 12,000
* (2) Current Assets
Stock 1,10,000
Debtors 1,30,000
Cash at Bank __fgs—ggo———-
Total __ 880,000

Shah Limited paid available cash and bank balance Z68,000 in
full settlement of loan from Shah (Director) after that Bagh
Limited agreed to absorb Shah Limited on the above balance
sheet date on the following terms :

(i) Bagh Limited is to take overall assets at 10% less than
their book values. Goodwill of Shah Limited is to be
valued at 4 years purchase of the excess of five years of
average profit over 8% of the combined amount of share
capital and reser.cs.

(i) Bagh Limited is to take over liabilities of Shah Limited at
their book value.

(iii) The purchase of consideration is to be discharged in cash
to the extent of ¥1,00,000 and the balance in fully paid

equity shares of 10 each at agreed value of T12.
share. : 50 per

The average profit of the five years was 62200 Th
liquidation expenses were amounted to ¥8,000. Bagh Li.mite; :

had sold prior to 31st March, goods costing 360,000 to Shal

Limited for ¥80,000; ¥50,000 worth of such goods g inStock
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of Shah‘ Limited on 31st March, 2016. (.Zretditors of Skah
Limited include T 40.000 payable to Bagh Limited.

lose the books of

; the necessary ledger accoun?s to ¢ ¢

222}‘: Lirfxited and give journal entries in the books of B[al%}i
Limited. |
mﬁfﬁés%mm)a%wzﬁwwﬁ;?;
E4 68.0003%@%%%@1@@3@13%% Ad
Ry @ ag s we fifits @ ey ‘
o ol ™ FEHd g% ¢

' ¥ 10% BH
G) T e T wRkwl B e 1ol
v gmaﬁ?ﬁ;ﬁﬁgﬁﬁa?ﬁ;ﬁ%ﬁmw
gfnaslﬁs;gw%aﬂaﬁa%mzﬁmwwﬁf
7 Feaie At ST |
(ii)mﬁﬁﬁm%ﬁ%@%mﬁﬁﬁgﬁm{@w
TR
mqﬁtﬁazﬁrw?l,oo,OOOWﬁsﬁﬁi?ﬁﬂ
‘.m)F"zrr 3w @l %10 9 e 31%3@! T
S Rt P T 12,50 WY S @R

Uil
SR |
= ¥ : 7 st $62.200 o | |HGA
75 ofg gul # @™l @ . R
$3.000 ® gWI 31 W,ZOIG@@.Wmﬁ
?;boooﬁmmwmﬁfﬁmﬁﬂ
-;'f—-.-."ri: _Wﬁ@?SO.OOOV ag_"E "
;ib:?ﬁm%%s%wﬁmﬁaﬁlﬁ
Q;*z%mm@ﬁ e 340,000 919
27 L
] CICEEED
exfrie @ TS g% I B g A |

C-301 (4)

3.

2-301

(4]
%ﬁaﬁmﬁﬁm;

UNIT -1
$BIE — 11

(@) On Balance Sheet date the net assets in a firm amounted
to T 2,00,000. Out of £2,00.000, 220,000 is represented
by non trade investments in 5% Government securities,
purchased at their face value. The expected future profit
of the fim including income on above investment
¥30,000. The normal rate of return is 10% on closing
capital employed.

Calculate the value of goodwill by :
() (a) Three years' purchase of Expected Profit
(b) Five years' purchase of Super Profit
(ii) (a) Capitalization of Expected Profit and
(b) Capitalization of Super Profit
(i) 5 years annuity of super profit. The present value of
%1 annuity at 10% for 5 years is ¥ 3.791. (16)

fre &t Y & @ ot 3 I& vl 1 gy
2,00,000 =1 T 32,00,000 § » 720,000 & IR
w%ﬁﬁWS%mnﬁWﬁmaﬁ.ﬁ%
mmmwaﬁmwmmﬂgﬁﬁﬁuﬁraﬁ
;ﬂuﬁmﬁamﬁgﬁﬁma?;ﬂmﬁam?3o,ooo
| WY Ad XA T ¥ s
fafaifr §oft w 10% 2
T BT [—iH HIRNG -
i) @) aﬂ?ﬂ?ﬁﬁmﬁ$?ﬁ?aﬁ$ﬂ$aﬂmq~\:;

@) s & v oWl S 53 @ amre o,

(5)
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(i) (&) M AR B YOl B AR W TAT ; Directors of the company proposed to transfer 10% of
ot @ gl P IR 9N . . after tax profit to general reserve and proposed to declare
@ m. a\; ’ . 25% dividend on its equity share capital. Further directors
(iii) -l & Taadta Tffe g & MR W 10% propose to issue one equity share of ¥ 100 each for every
e A R W 5 9 B w15 A affar & four existing equity shares as bonus shares. The balance
ad T T 737912 of profit brought forward from last year was ¥ 45,00,000.
Pass necessary j 1 entri 31st M
(b) What do you understand by the term "Super Profit' for charg:eout:targdij:gumix;er?s]tn;s ggbentsures z;“l:rhbr?eo lﬁ.«;:
calculating the value of goodwill ? How is it computed ? corporate tax @30.9% (gross) on profit and propose
’ (41 preference and equity share dividends and to propose
@y &1 qedieT I B forw oY I TR ¥ oy . bonus share issue. The corporate dividend distribution tax
330 ReaT Y a & ? rate is 20.36%. Also show the relevant items in the
Ll R balance sheet of the company to be prepared on 31st
s val f sh B March, 2016. (16)
. What do you understand by intrinsic value ol shares : :
4. @ How is 3; determined ? Explain your answer with ’ 3“5'&35_ fafics 3 31 #rd, 2016 @ wAra gU a8 #
. . [16] O O @ e IR § g X115 arE &A™
illustration. T 2 o Fre o -
St B TR TEd ¥ T I wEw § 7 9 a9 T e e
PR fpar Tl & ? o STR B Serevel Hied 1,00,000, 10% Forg= T100 ¥ qof wael
SREIEN 1,00,000, 15% gaifar sfer T100 7 qoimes
(b) Describe 'Valuation of Right' pertaining to shares. (4] 1,00,000 997 37 T100 9P nggﬁ
siwit & ged #§ ARER! B e FAARS FUN B Haredl A Al W Yot W 25% i
» IR R T A BT 10% 6 §9g § ARG
UNIT - III X B gq fbar) 56 SfaRew warersl 7 fRese
TP IR FHAT 3 UR TFH GHAT Y 999 D B
g — 1 frifia & &1 e fear) @ 9§ A W wEr T
5. (a) Abhishek Limited earned a profit of ¥ 115 lakh begoz o ¥45,00,000 217 | N ‘
C ‘ch-a.roing debentures interest and tax for the year ende 31 @€, 2016 & FOYE! W Uh 9§ BT 9T =
+t 315t March, 2016. The capital structure of the company et PV T A il vd wWen ofwi w i
was as under ; 30.9% ﬁaﬁaﬁrﬁmﬁmﬁ B,
y % 100 each fully paid. 270 ) Hfafeg;
1.00.000. 10% Debentures of f;acoo yhpﬁmv aid :??TQI ﬁ"rr% et R TR A T 2036% § 1 37
| 00.000, 15% Preference shares 0 100 eac \ 2016 I WM 9 A8 F aife
, el s -

1.00,000 equity shares of ¥ 100 each fully paid.
C-301 (7)

C-301 (6)
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(b) What is meant by capitalisation of profits ?

6. (a)

(b)

{b)
R, {a)
C-361

#2.50,000 and a loss of ¥ 3,00.000 standing in its Balan

ST @ goflevT § T I © P

How is the liabilities of co-underwriters determined ?
[llustrate your answer by giving a suitable example. [16]

wE-aifrmawl @& <l o1 FefRer $ fear o & ?
Tep ST SETERYT AGN I TR B WL BT |

(4]

What is firm underwriting ?

gge feme @41 8 ?

UNIT - IV

gPIs -1V

What is meant by 'profit prior to and post incorporation’ ?
Explain the method of ascertaining them. How such

profits and losses are dealt within company accounts ?
[16]

‘wﬁaﬁﬁg&wm%mﬁ@fmm%?@
aﬁiaﬁmaﬂﬁaﬂﬁfﬁmlﬁwﬁam
sﬁﬁmm&a@gwﬁﬁmﬁmm

What do you mean by guarante¢ relating to debtors and
' 4]

creditors ?

amaméwﬁmﬂﬁ’rﬂmwmﬁ%?

7 Limited company which has a paid up share capital of
ce

Sheet. went into voluntary liquidation on 31st March,

(8)

C-301

2017. The following are the particulars of its assets and
liabilities as on that date :

Machinery, stock and debtors (which realised their book
values) ¥1,97,500, cash 2,500, creditors %1,00,000;
6% debentures having a floating charges ¥ 1,25,000 and
interest accrued thereon for 6 months.

The debentures were paid off with interest on 30th
September, 2017 on which date a first and final dividend
was also paid to creditors. Creditors for ¥ 12,500 were
preferential and rest unsecured. The cost of liquidation
amounted to ¥ 1250. The liquidator is entitled to 3% of
amount realised from sale of assets and 2% of the amount
distributed to the unsecured creditors (excluding
preferential creditors) by way of his own remuneration. -
Prepare the liquidator's final statement of Account.  [16]

fg % waw: 2,50,000 va ¥3,00,000 &, 31 \rd, 2017
®1 (Red THU § gl ¥ | 39 Ay @ sea "Ry
d Tl @ fAefafea faavo €

T, ®6 7@ HER (B9 391 JRie Jod agel
gem) 1,97,500; \&s 32,500; =R 1,00,000; T
YR Y@ d1et 6% FOras X1,25,000 TUT 99 W 6 HIE
@ forg erew <o |
30@W,2017ﬁmﬁmﬂ%ﬁme
ﬁmaﬁvwm@aﬁmﬁﬁﬁmqﬁm
T % | e A 12,500 e o o sy
IR | T B o 3 1250 3| Frvamwes
wakedl B R ¥ g A AR w30 o

IR IR (EReR IeRi R
LA
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faaRa & 1E IR R 2% URHAS B e R
fraR® &1 sifsaw or@r faarer R AR | -

(b) When does the liability of B-List of contributories arise ? [4]
- D AT BT I D Iea~ Bl § ?

UNIT - V
IHE -V

9. (a) What is the difference between Double Account System
and Single Account System ? How is the replacement of
fixed assets treated in account books under the Double

Account System. [16]
fy-<aTaT WoTell I SHERT AT FUTE H Tl 3R § ?
ot geREl & greafoa @1 - sorell @& st
é@g\ﬁaﬁﬁﬁmwwﬁmw%?

(b) Explain the objects of Double Account System. [4]

2NExT WAl YT P Iqaed Jay |

Ltd. as on 3lst
10. (a) The Balance Sheets of A Ltd. and B a9

March, 2017 were as under :

31 =14, 2017ﬁa%ﬁé€@a%ﬁé@$ﬁgﬁﬂ

gpN o ¢
Balance Sheet as on 31st March, 2017
ALtd. BLtd
® ®
. EQUITY AND LIABILITIES
1} gphareholders funds

Share capital authorised

Jssued and subscribed :

Equity shares of ¥ 100 each
(10)

(a)
I
5.00,000 2,00.000

C-301

C-301 (11)

¢ (b) Reserves and Surplus
General Reserve 1.4.2016 1,00,000 60,000
PandL Alc 1,40,000 90,000
(2) Non-current Liabilities B —
(3) Current Liabilities

Bills Payable - 40,000
Trade Payables (creditors) 80,000 50,000
Total 8,20,000 4,40,000

II. ASSETS

(1) Non-current Assets
(a) Fixed Assets

(i) Tangible Assets 3,60,000 2,20,000

(ii) Intangible Assets : Goodwill 40,000 30,000

(b) Non-current Investments
1500 shares in B Ltd. 2,40,000 -
(c) Other Non-current Assets - -

(2) Current Assets

Stock 1,00,000 90,000
Bills Receivable (Debtors) 20,000 75,000
Cash and Cash Equivalents 60,000 25,000
Total 8,20,000 4,40,000

The profit and Loss Account of B Ltd. showed a credit
balance of ¥ 50,000 on 1.4.2016. A dividend of 15% was
paid in January 2017 for the year 2015-16. This dividend
was credited by A Ltd. to its Profit and Loss Account.
The shares were acquired on 1st October, 2016. The bills
payable were all issued in favour of A Ltd. Included in the
creditors of B Ltd. ¥ 20,000 are related to goods sold by B
Ltd. Included in the stock of B Ltd. are goods of the value

0f 78,000 supplied by A Ltd. at a profit of 33%% on cost, .

Prepare the consolidated balance sheet as on 3 Ist
2017. i

1.4.2016 &1 9 fafics & am-a1y @@y & 50
BT A A1[ 2016-16 T B By e, 201(;0%?1?»
mﬁmwruﬁma%ﬁé@ﬁa{qﬁ 7
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iy A wlye [ wn ) s | AegEr, 2016 @ pd R
a9 ) Qu fauys o fafiee @ uer # O R W
of foreel g 4@ ue o for o | @ fafide & R
420,000 T 3 fo g a9 M A @ aftferd €1 9

fafaee @ w@ie 4 8,000 T @ g8 ol & o o fa 7

IRGECF: 33—!2«-%611?1 ST dar ar| 31 Ad, 2017 B
Ubipd fgr 9915y |

(b) Pass the journal entries for dividend received out of pre-
acquisition profits and post acquisition profits. [4]

e A qd @ ol § ¥ dur ARET B uTE D
o A ¥ oy Tty Y See wfafted Y |
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